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P-1l(1+141)H/Pr/18 (N)

2018
GEOGRAPHY (Honours)
Sixth Paper
{Practical)
[New Syllabus]
Set - |
Full Marks : 50 Time : Four Hours

The figures in the margin indicate Sfull marks.

1. Identify megascopically the given five specimens of
rocks and minerals and point out any two charactenstics of
identification. §x2=10

3 The marks obtained by the students in an
Examination are shown in the following table.

85|58 |70 | 6588 |84 |80 74|71 |68
4996 |76 |88 |39 |69 |38 | 63 | 42 72
77 (89 |47 [34 |89 7589 |77 |67 |94 |
8256 85| 74|89 96|40 |43 |72 |86
90 (87 |79 |67 |69 |81 |93 |78 |84 |76
faahw'imﬁnmmﬁﬂihﬁmmhh
based on the given data. 4
(b) Draw ogive (less than type) and show D, and
P, on the curve. 24242
PTO.

#/30 - 1200

Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



il i
T fapres o

1. ;
of pcks el el

o The

o el i
o ninale i

i

£l

IEEE

Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Full Marka | 30
The fipure i

1. Fropars 2.
PewpEon o the

srug [n i st
W41

e gt e
i

|

Scanned by CamScanner



-

if

.
al’

EEF{EHII;;EHE

I EIEM !Hi#iﬂﬂ#ﬂ:f-

Scanned by CamScanner



Scanned by CamScanner



v Migrsaliry uf
'y =, [
. Btarive sty [}
i T (TR Whejlon
s | wmu | nn iy | |
fii 63 el e Gty
| wn | L e
nm | T [T Jamar |
A | sk | L] g |
0 | tm | e fommkin | iSSe)
26 | we | nw | e
24| [ B
AT TR [T '
s | wu | s - - “F;‘--
M | o | wn s
_ I'--'inn-r Aliew RET 04) oo
T LT e e— ) Ty
e o 1 gom bty T
o) et 1 %
LRI

Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



!—“Hﬂ-ﬁ

fowes . srspents ul R presbacts s

s ovee B desale of 00120000 Ladwl
eneal chart oy s

h“l‘“fl

O Na S} 2s20363-10

. _hd.'ll-l-. Lag=d

_—

Scanned by CamScanner



Scanned by CamScanner



- Sowrce : Reserve Bank of india. 2017

. (i) Calculate the difference of rural and urban
- paverty line of each of the Seven Sister states of North East
Ind

e R

(@), Calculate the Mean Poverty Line for rural and
.~ urban arcas separately for the North-cast India,

(v} Represent the distribution of persons below
North-cast Indian states with two separate divided circles and

|‘ l_
]
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- L (a) Interpret the Indian Daily Weather Report given
¥ }ﬂmmm&Mmmuﬂdmﬂmﬁ
h suitable maps, charts and diagrams.

(b) What is meant by pressure gradient 7
4+4+2=10

2. (a) Take reading from Maximum and Minimum
Mmuﬁ-'mdmh:h:m:dimmwufw
- [h] Account for the suitable condition for setting up
of Simon's Rain-Gauge. 4+1=5

&mmﬂﬁn—m 20+10=30
4. Laborator ;—,h,, ;i.*' an W 342=5

Sl = L
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The figures in the margin indicate full marks
high pressure and low
onditions as a whole:
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In}ﬂuuﬂnmuiunﬂwuﬂlemmnm:gamplc

ification characteristics for each. 2x5=10
2 (i) What is ‘snow ball sampling ? Give example.
(i) Arrnge the following data into simple frequency
stribution and calculate *median’ and ‘mode’.
" uble-1 Daily Number of Car Accidents
B s 4 4 6
3,5 4 5 3 5
4 4 5 ""E- 4':-. ‘ .

- 'I.-.I
'
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3735, 3398, A
3395, 2667, 25.97,
2559, 2448, 2388, 2338, 2225, 20.78,
2041, 2008, 1663, 1774, 1702, 1497,
~ 1232, 1110, 1047, 979
l (iii) From the data given above calculate the frequency
densities for each class and draw histogram using it. .~
' () Drw a cumulative frequency polygon (less than
- Type) and plot 6th decile and 2nd quartile on it.
e Rl
242+2+4444244=30
e m.w*mﬂimﬂlmﬂmgim line
- (i) What is ‘in lier' and ‘out lier?
. 8420442
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60 - 62
63 - 65
66 - 68
69-71
72- 74
(v) Calculate mean absolute deviation about medism,

(vi) From the following table (Table-2) calculate the
value of ‘r* and comment on the degree of relationship.

Table - 2

X:1219]3]25
Y: |3]2]4]>

(Arithmetic mean of ‘X’ and
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B ek 50
1 R::Eﬁgm in the margin indicate full marks.
Answer all questions.

- 1. () What is the difference between rocks and
e vy

 {at leas 'Tm‘,l of the d:;;k and mineral specimens (4) Ehr:':

o you and write down the name of theen. 24224

2. () What is the difference between probability

ing and non probability sampling ?

-
samy
i+

(@ From the following
Sk, T ind out sel :p‘_. Jix eeantuny

- i
TRt =
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PN (1+1+1)H/Pe/17 (N)
GEOGRAPHY (Honours]
(Practical)
[New Syllabus]
Sel - V

i

=

Fu _. Time : Four Hours
The figures in the margin indicate fill marks
Answer all questions.

- 1 Mdentify the given sample of Rocks and Minerals (5)
i i &1 least two important propertics of each of them,

P e
H“Fﬂ..l--!.q!

1t€ ]D
.-p'é nﬁ '“Mhhmﬁm:mwmm
Pl ot ? 2
l fﬁ@iﬂﬂmﬂtmﬂmmmmwmmﬂﬂnh
'-i:,—l-l i m 1: Numbers) 2

_mﬂﬂﬂmﬂmﬂﬂﬂﬂﬂ
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202, 10, 286, 497, 316, 211, 372, 93,
235, 749, 149, 257, 82, 79, 33, 73, 2
403, 129, 57, 429, 263, 473, 767
(iv) Find out standard deviation and comment. n it
(v) Find out semi-interquartile range of the .3'2'3
. (V) If the values 33 and 10 are replaced by 17;'3;‘_%'_'

" 108 what will be the changes in standard deviation ? 3 (24
2+245+24343+3=20

3. () Draw a Geological section

' ;ﬂ-m&mmmuﬂiﬂgm
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 The figures in the margin indicate full marks. -~
1. (a) Diffmtiate between schedule and qmsumuurlg.

(b) Give an example of open-end and closed-end
ions each. 2

¥ 1 {n} MEﬂmubksIMf]meﬂmmufm
whm::m:muﬁ:nh: district of North 24 Parganas in

Wﬁ' te of West Bengal. Represent the same by Rank Size
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Pl (1+1+1)H/Pr/16
2016
GEOGRAPHY [Honours)
Fourteenth Paper
(Practical)
Set - |
Full Marks : 50 Time : Four Hours
The ﬁgl&: in the margin indicate full marks.

1. ldentify the given simple of Rocks and Minerals and
mention at least two important properties of each of them.
2x5=10

2. (a) Compute Median and Mode values of
temperature of 85 stations for which data is given below :

4+4=8
i Temperature (degree centigrade) No. of stations
ﬂ -5 and nbove but less than 5 13
|5 and above but less than 15 20
15 and above but less than 25 e
e = Tana thdin 38 ,
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ol 4 Laboratory Notebook and Viva-voce. 3+2=5
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ﬁl! figures in the margin indicate full marks.

reading calculate Hummidity
Liﬁv:h}hwiﬂ oy 2+1=3

|. isﬁ}ﬂm&n&uﬂcwhmﬂmmnzf

mwmmmmm “
Mwmﬂfm S¥5=10 - o RNk

: -:, l_.
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Haﬁne sampling. Explain the different types of
2+3=5

scuss the disad of arithrnati 2

(a) An air-craft while flying at an altitude of 40000
_'  sea level takes an aerial photograph of a
Fh:l the focal length of the camera. 5

) What is remote sensing ? Discuss the
va itages of remote sensing.

" 4

ey Teah .

-, P F 'y
4+4=10
=T 'f'lll.r_"-"n-‘.-r.::-'-.
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metion at least WO | 2x5=10
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4+4=8

o & |_"'lll'

 precipitation amounts (em) No. of stations
© Less than 10 L
b mmgﬂ 20
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(6% Calculate Karl Pearson’s coefficient of correls
A price and supply of a commodity from the following

i
I-

 Price (Rs.). __:ll:r"ﬁ!'m EEEEEE R

—upply(kg)  [38{37]38]33 | 32[33]34] 292633

. 3 Dmaw a geological section along the given line and

:::' : 10+5=15
4. Laboratory Notebook and Viva-voce. 3+2=5
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3 (2)

(b) Mention the empirical relationship among }
ﬁ'ﬁmmuhmmnfm Jationship

B {ﬁ}&lﬂﬂﬂnﬂ?ﬂr&msmﬁﬁuﬂ
setween the average height of plants (cm) in a M
- "imﬁﬂ{mn]ﬁ'mnﬂrwdﬂa 10

64| 65| 66 | 67 ﬁﬁﬂ
| ﬂiﬂfﬂl{m} 66| 67| 65| 68| 70| 68| 72

:: 13. Draw a geological section along the given line and
interpret it 1045=15

4. Laboratory notebook and viva-voce. 342=5

-
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P- I (1+1+1)H/Pe/16
2016
GEOGRAPHY (Honours)
Fourteenth Paper
(Practical) :
Set - IV £
|

jven data
jent of sD from the given
2. (a) Eunq;l;m ﬂ?mﬂ =57 WB 12011). Compute
rote distn

 coefficient of Rang [ iteracy Rate (%) in 2011 |
e W K766
oy Purba Medinipd! 7.4
i 589
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#’,&. Enlmlam Karl Pearson’s correlation coefficient
4& dﬂ]ﬂh l?fThalweg (cm) and thickness ﬂf
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Y (Honours)

b o b LIUIUEL L ottt
'|-'-'"'.--'-':"."'-'q.i-:"-:l.'_‘-.-".g..--?'E_h_d:: - -
[ENTIanTIN R Ope

(Practical)

_ Tkﬁgm in the margin Indicate Sfull marks.
1. ‘() Differentiate between schedule and qlﬂnmm:

questions cach. 2
Iy -L 2. (a) The following table shows the Population of some

" of the urban centres for the district of North 24 Fﬂgﬂmﬁﬁin

i it {b) Give an example of open-end and closed-end

- ii:_ 5

e |
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[Revised New Syllabus]
Set - |
m 50 Time : Four Hours

ﬂhmwhlhmmﬂﬂmﬁﬂmh

1. Prepare a model schedule for collecting primary data
o oh a socio economic survey to assess the status of

mmmﬂﬂmgctﬂdrmmmydmh
Hnﬂ:yuum 5

mmmmmmmwmﬂm
5 i ﬂl#ufﬂﬂnhmll
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P {1+1+1)H/Pr/15(N)
2015

GEQGRAPHY (Honours)
Fourteenth Paper
(Practicall
[New Syllabus]

Set - I
Full Marks : 50 Time : Four Hours
The figures in the margin indicate full marks.

1. Identify the given hand specimens (5) of rocks and
sinerd] mentioning two properties of each them.  2x5=10
2. (a) Distinguish between stratificd sampling and
' {b) Prepare a cumulative frequency distnbution table.
i, | Rainfall Recorded (in mm.) of a mingauge station

- for 36 days.

" :l'[.'ﬂlﬂlﬁ Il 60 46 38 25 20 18 16 26
ﬂl’“ﬂ 43 27 23 44 19 27
l..‘-.-. H H 57 31 41 11 52 ﬂ!? !i.i_:.h
- /

il —

(.

. =
W=

k] u. !
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N 132434343424244=00
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P-M(1+1+1)H/Pr/15(N)
2015
GEOGRAPHY (Honours)

Fourteenth Paper
(Practical)
[New Syllabus]
' Set - V
Full Marks : 50 Time : Four Hours
“Ih& figures in the margin indicate full marks.

M&hwhﬂrdspmmmﬂfmmﬁ
mmmm‘mm 2x5=10

@) What is Probability Sampling ? Write its different
® ' are a frequency distribution table with the

. ,,_1_ m bhhw

0 ] A- e f-l' - ey i
| IR = ] ' (=

v .‘r-=!l:".‘.?t'll:..:.c :-.:':'-"." .IIT :'.I' .'r.I -=-: b " C
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4@11"1!1: value of S.D (g) of the set of

13, 5,8, 7, 5,7 is 1.675, then write down the
mm : 6, 10, 16, 14, 10, 14.

' L_ Pmmth: foliowing table calculate the co-efficient

R,

'Imﬂ.lmduﬂlnln'pru:L
3 & I 10 4 3
.q..l" ST 1 e T T

e |_" lic means of x and y series are 6 and 8
:...___ " ."]' o 1+1+3v-i-3+1+2+l+5+1-2n

J:T'.f AT
._-:.I_ f";l"'--"ﬁ_""iﬁ.- 51
G T gt e e TRC A i
d irtercest B¢ L. ;

I sl L L L

=y T Ea
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